7heF A3t

3. 7}

o]

%37} Wt &

al
=

7}

=
(<)

ATHA 2 ufd 0.58cn

tlo

™~
Ko

]
{of

50
40

BN
Bl Ko
H o

430
410

30

390

20

370

10

350

330

-10

310

-20

290

zote
1¢0¢C
0Zo¢
610¢
8107
L10¢C
910¢
S10¢
#1102
ET0C
c10¢
110¢C
0t10¢
600C
800¢
£00T
900¢
S00¢
00z
£00C
00t
100¢
000¢
6661
8661
L661
9661

N

k{0
o
oK

Bl
I+
r
Tl
i
<0
ujo

10

B~
B Ko
H of

92
90

88

86

84

82

80

78

76

74

72

caoe
1eoc
0¢oc
610¢
810¢
L10¢
910¢
ST0C
¥10¢
eT0¢
Z1o¢
110¢
010¢
600¢
800¢
£00¢
900¢
1={0/074
700¢
€00¢
(48074
10o¢
000¢
6661
8661
LE661
9661



o]

=
L

%37} ws}

7F SRS == tid 0.07" 57t

al
=

%

Ui 0.1lmm &

L
[

A7

=
o

~N
ko

(]
{0

i3

ey ——

B~
Bl Ko
ol

13

12

0.8

11

0.3

10

-0.2

-0.7

[440r4
120¢
0¢oe
6T0C
8T0¢
LT0C
9102
STo¢
vToT
e10d
Z10¢
110¢
otoc
600¢
800¢
£00¢

S00¢
¥00¢
€00¢
¢00¢
100¢
0002
6661
8661
L6B6T
9661

™
Kio

o
foF

0.8
0.6

B~
%! Ko
H ol

4.5

04

0.2

-0.2

3.5

-0.4

-0.6

-0.8

2.5

(44014
12oc
0zo¢
610¢
810¢
LT0Z
910¢
s10¢
v10¢
£10¢
1oz
1102
010¢
600¢
800¢
£00¢
900¢
S00¢
v0o0e
£00¢
00¢

000¢
6661
8661
L66T
9661

o
__O

%



L0z0z K -0z0zg
LeLoz Lsloz 1—_/|
L8i0z F8Loz K_o
Liloz Liloz AN bo.po .
& ~N
Loloz i Laloz re) Ko
] nE o > Mo
w ; i Y
1 ; Loloz F| % Lsioz KF o o
ok | oF H ED
Lrioz LpLoz o O_.._ m_.n_
0
Leloz LeLoz T __.__.wo
; =
LzL0z Lzioz M =
= .D..._
Lioz Loz il O_n
ooz Loloz ud
5% & & & & T % 5 2 3 & oF 3
o = T & & & N & & .MU
ok <
| ozoz = L ozoe o ™
Leloz i Lsloz u_._..“ —
LgLoz n -aLoz WI_IEE O_l_
FiL0zZ FLL0Z o_n 0 o
m 0 e
Loioz ; Loloz - 2 M_wc.
sl
mewﬁ Laloz B Lsioz _u__r_____ S o
oF oF H_O O_H a0
Lrloz o Lploz = .x_tn
o 0
Leloz Leloe i]= bon.o
L ﬂ - —_ N
zLoe ] zhoz =K S
Liloz ; Liloz
% ._.__._._.o e m
Loloz % Loloz X N
ot satrooran P P 0 Ko | T/
B R 58 & 38858 ﬂ =3
B
| _m L ozoz = .ﬂo
g
| _2 Lsloz ._.__._.FQ .ﬂo _n._hw_w
® Laloz =

| 2 OF N | oF

| | -

_ | Loloz 0 K _V._A-“_A ._A,_,..m

T & —
£ © e ,_4 e B R
a H [
T CE oF i o
-
] . e R v o
& %

_ I : Lziloz v K _._._Alm
[ ez K x.n
[ = < | °

S % Loloz N
00005 0000g 0000k O 0000L 00S6 0006 008 0008

N >

=
T

7H &

ol



150.00 20.00
145.00 STt e 15.00
N, ' 10.00
140.00 > SR § - A
f o) oot y =-0.6585x+ 148.06 - ()
135.00 ' -
"""""" 0.00
130.00
""""""" 5.00
125.00
-10.00
= y =-0.7473x+ 8.5122 oo
115.00 -20.00
S DD D> H oD DD O SAD DG A DO DN DD
S IS ST S 2B s S S A s B A S A
ST IFTLFLT LT LT LTSS S
——EHY ——837
CE2Xx T X 0] :malda al o S XX
2) T 10 ox] o]__l‘”ﬂ—‘] 1_.°<:3] = 07]' 1_.9—]' ﬂ
EE SXHEH
15.00 4.00
14.00 y=00199x+12.143 _
13.00
2.00
12.00
1.0
11.00 1.00
10.00 0.00
9.00 y =-0.0324x+0.7877 400
8.00
-2.00
7.00
6.00 -3.00
5.00 -4.00
O A D P> O oD DO OB E 0A LD OO N A D
S PN N N RN S L L n R QR
S FFEEEEE TS D D DD S S




4.00

40.00

3.00

35.00

2.00

0.1663x+ 31.596

v’:-

30.00

o
=
=

0.00

25.00

-1.00

0.0263x- 0.8787

Y=

20.00

-2.00

15.00

-3.00

-4.00

10.00

Al

=
L

4.00

40.00

3.00

35.00

2.00

0.1663x+ 31.596

v’:-

30.00

o
=
=

0.00

25.00

-1.00

0.0263x-0.8787

v:

20.00

-2.00

15.00

-3.00

-4.00

10.00



3 A
23M S4X}E
17.00 3.00
y=0.2142x+9.8312

16.00
15.00
2.00
14.00
13.00
12.00 1.00

11.00

0.00

-1.00

15.00 3.00
y=0.1719x+9.1088
14.00
13.00
2.00
12.00
11.00
10.00 1.00
9.00
8.00
0.00
7.00
6.00

-1.00




Al

=
T

%371 W

al
P
BASE BeolaFe] WEMRLE SE7HE Ud 0.025 FF

1.00

0.1577x+ 9.9949

y:

15.00

14.00

[=]
Q
]
o

12.00
11.00
10.00

0.00

v<0.0197x- 0.3322

6.00

-0.50

Al

=
T

%371 ¥g}

1.00

15.00

0.1459x+ 9.1738

y=

14.00

13.00

(=]
=]
~N
-

1.00

i

.0199x - 0.2779

6

10.00

0.00

6.00

ct
<1

al

* 20109 o]& of



